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Roll No.                                                                                                                                                                       

 

                                                                         अर्थशास्त्र  

Economics  

[Hindi and English Medium] 

ACADEMIC/HOS 

(Only for Fresh/School Candidates) 

[Time allowed: 3 hours]                                      [Maximum Marks: 80] 

 __________________________________________________________ 

● कृऩमा सुननश्चित कयें  कक इस प्रचन ऩत्र भें भुद्रित ऩषृ्ठ सॊख्मा भें 08 हैं औय इसभें 19 प्रचन हैं। 
Please make sure that the printed pages in this question paper are 08  in number and 

it contains 19 questions. 

● प्रचन ऩत्र के दाईं ओय द्रदए गए कोड नम्बर को छात्र द्वाया उत्तय-ऩुश्ततका के ऩहरे ऩषृ्ठ ऩय 

लरखा जाना िाद्रहए। 
The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

● ककसी प्रचन का उत्तय देना शुरू कयने से ऩहरे उसका क्रभाॊक लरखना होगा। 
Before beginning to answer a question, its Serial Number must be written. 

● अऩनी उत्तय ऩुश्ततका भें खारी ऩन्ना/ऩन्न ेन छोडें। 
Don’t leave blank page/pages in your answer-book. 

● उत्तय-ऩुश्ततका के अनतरयक्त  कोई अन्म शीट नहीॊ दी जाएगी। अत् आवचमकतानुसाय ही 
लरखें व लरखे उत्तय को न काटें। 
Except answer-book, no extra sheet will be given. Write to the point and do not strike 

the written answer. 

● ऩयीऺाथी अऩना योर नॊफय प्रचन ऩत्र ऩय अवचम लरखें। 
Candidates must write their Roll Number on the question paper. 

● कृऩमा प्रचनों का उत्तय देने से ऩूवव मह सुननश्चित कय रें कक प्रचनऩत्र ऩूणव व सही है, ऩरीऺा के 

उऩराांत इस सांबांध में कोई भी दावा स्त्वीकार नहीां ककया जाएगा। 
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Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

_________________________________________________________________ 

                                                                      

सामान्य ननदेश:  

 (i) सभी प्रश्न अननवायथ हैं। 

 (ii) इस प्रचन ऩत्र भें कुर 19 प्रचन हैं, श्जन्हें  िाय खॊडों क, ख, ग औय घ भें ववबाश्जत ककमा गमा 
है:   

(iii) खांड - क के प्रचन सॊख्मा 1 भें सोऱह (xvi) वततुननष्ठ प्रचन हैं। प्रचन (i) से (viii) तक 

फहुववकल्ऩीम प्रचन हैं। प्रत्मेक प्रचन भें िाय ववकल्ऩ द्रदए हैं श्जसभें से सही ववकल्ऩ का िुनाव 

कीश्जए। प्रचन (ix) से (xvi) तक प्रत्मेक का उत्तय एक मा दो शब्दों मा वाक्मों भें दीश्जए। प्रत्मेक 

प्रचन 1 अॊक का है।  

(iv) खांड - ख भें प्रचन सॊख्मा 2 से 8तक अनत रघुत्तयात्भक प्रचन हैं। प्रत्मेक प्रचन के 2 अॊक हैं। 

(v) खांड - ग भें प्रचन सॊख्मा 9 से 16 तक रघुत्तयात्भक प्रचन हैं। प्रत्मेक प्रचन के 4 अॊक हैं।  

(vi) खांड – घ भें प्रचन सॊख्मा 17 से 19 तक दीघव उत्तयात्भक प्रचन हैं। प्रत्मेक प्रचन के 6 अॊक हैं। 

(vii) खांड – घ (दीघव उत्तयात्भक प्रचन) के दो प्रचनों भें आॊतरयक ववकल्ऩ उऩरब्ध हैं। ऐस ेप्रचनों 
भें दी गमी छूट भें से आऩको केवऱ एक प्रचन कयना है। 

 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) This question paper contains 19 questions, which are divided into four Sections : 

A, B, C and D.  

 (iii) Section – A contains question number 1 having sixteen (xvi) objective type 

questions. Question from (i) to (viii) multiple choice type questions. Each question 

carries four options, from which choose the correct option. The answer of each 

question from (ix) to (xvi) may be given in one or two words or sentences. Each 

question carries 1 mark.  
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 (iv) Section – B contains question numbers 2 to 8 of very short answer type questions 

and carry 2 marks each.  

 (v) Section – C contains question numbers 9 to 16 of short answer type questions and 

carry 4 marks each.  

 (vi) Section – D contains question numbers 17 to 19 of long answer type questions 

and carry 6 marks each.  

 (vii) Internal choice is available in two questions of Section-D (Long Answer Type 

Questions). You have to attempt only one of the given choice in such questions. 

 

SECTION - A 

खांड - क 

( Objective Type Question Answer) 

(वस्त्तनुनष्ठ प्रकार के प्रश्न उत्तर) 

Q 1.   ( i )   In case of Giffen Goods the slope of demand curve is:-       1x16=16 

                      (a) Positive      

                      (b) Negative  

                      (c) parallel to ox axis  

                      (d) parallel to  oy axis   

                    गगफ्पन वततओुॊ के भाॊग वक्र का ढरान होता है।  
                      (क) धनात्भक     

                      (ख)  ऋणात्भक   

                       (ग)  ox अऺ के सभानाॊतय  

                       (घ)  oy अऺ के सभानाॊतय 
(ii)    When the level of production is Zero then the fixed cost is:- 

                   (a) Positive      

                   (b) Negative     

                    (c) Zero     

                    (d) Equal to variable cost  

          उत्ऩादन ततय शनू्म होने ऩय श्तथय रागत होती है  

                    (क) धनात्भक    

                    (ख) ऋणात्भक   

                    (ग) शनू्म     

                    (घ)  ऩरयवती रागत के फयाफय 

 

 

  

(iii)   Selling cost has importance in which market? 

                      (a) Perfect competition 
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                      (b) Monopoly  

                      (c) Imperfect competition  

                       d) NONE of the above   

         ककस फाजाय भें ववक्रम रागत भहत्वऩणूव होती हैं?  

                    (क)   ऩणूव प्रनतमोगगता      
                     (ख)  एकागधकाय    
                     (ग)   अऩणूव प्रनतमोगगता     
                     (घ) उऩयोक्त कोई बी नहीॊ  
(iv)   Which of the following is indirect tax- 

                  (a) Wealth tax     

                  (b) Income tax    

                  (c) Excise duty   

                   (d)  NONE of these  

        ननम्न भें से कौन सा अप्रत्मऺ कय है?  

                   (क)  सॊऩदा कय       

                    (ख)  आम कय    

                    (ग)  उत्ऩाद कय  

                    (घ) उऩयोक्त कोई बी नहीॊ  
                               

(v)   If MPC =1,then multiplier will be  

                 (a) Zero    

                  (b) One  

                  (c ) Two      

                  (d) Infinity 

     मद्रद सीभाॊत उऩबोग प्रवनृत एक है, तो गणुक का भान होगा :- 
             क)  शनू्म     

            (ख)  एक   

             (ग)    दो   
             (घ) अनॊत  

 

 

 

 

 

(vi)   Which of the following factors lead to decrease in supply?  

              (a) Fall in input price      

              (b ) Fall in price of other goods     

               (c ) increase in excise tax            

               (d) NONE of the above  

     ननम्नलरखखत भें से कौन से कायक आऩनूतव भें कभी रात ेहैं? 
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               (क) साधन कीभतों भें गगयावट     

                (ख) अन्म वततओुॊ की कीभतों भें कभी  
                (ग ) उत्ऩाद शलु्क भें ववृि    

                (घ) उऩयोक्त भें से कोई नहीॊ 
(vii)  The year of world's Great Depression is:- 

                (a) 1927   

                (b) 1929  

                (c ) 1931  

                (d) 1936  

        ववचव की भहाभॊदी का वषव है:- 

                   (क) 1927   

                   (ख) 1929   

                   (ग) 1931  

                   (घ) 1936 

(viii)   The keynesian school of thought advocates:- 

                (a) Mixed economy  

                (b) Free economy 

                (c) Government control economy  

                (d) All of the above  

        कें श्जमन वविायधाया :- 

                  (क) लभगित अथवव्मवतथा            
                  (ख) भकु्त अथवव्मवतथा  
                  (ग ) सयकायी ननमॊत्रण अथवव्मवतथा   
                  (घ) उऩयोक्त सबी  
State whether true or false:-       

  सही या गऱत बताएां - 
 (ix)  Two indifference curves can cut  each other.  

          दो उदासीनता वक्र एक दसूये को काट सकत ेहैं। 
                                              

(x)    Coefficient of elasticity is zero when demand is perfectly elastic.  

         रोि का गणुाॊक शनू्म होता है जफ भाॊग ऩयूी तयह से रोिदाय होती है। 
                                       

(xi)   Tax is a voluntary payment 

           कय एक तवशै्छछक बगुतान है 

(xii)  The longer the period, the less elastic is demand.  

          अवगध श्जतनी रॊफी होगी, भाॊग की रोि उतनी ही कभ होगी। 
(xiii)   Net exports of goods and services are included in domestic income.  

           घयेर ूआम भें वततओुॊ औय सेवाओॊ के शिु ननमावत को शालभर ककमा जाता है। 
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(xiv)   In case of deficient demand, the government should adopt the policy of deficit budget.  

           भाॊग की कभी के भाभरे भें, सयकाय को घाटे के फजट की नीनत अऩनानी िाद्रहए। 
(xv)   The difference between firm and industry disappears in monopoly.  

           एकागधकाय भें पभव औय उद्मोग के फीि का अॊतय गामफ हो जाता है। 
(xvi)   Macroeconomics deals with the study of price of commodities.  

          सभश्ष्ट अथवशातत्र वतत ुकी कीभत के अध्ममन से सॊफॊगधत है। 
SECTION - B 

खांड - ख 

VERY SHORT ANSWER TYPE QUESTIONS 

अनत ऱघ ुउत्तरात्मक प्रश्न 

Q2.   What does the slope of PPC show?           (2) 

          उत्ऩादन वक्र का ढरान क्मा दशावता है?               

Q3.   What are the components of the current account of BOP ?                (2) 

          बगुतान सॊतरुन के िार ूखात ेके घटक क्मा हैं? 

Q4.   What is meant by Foreign Exchange Rate?             (2) 

          ववदेशी ववननभम दय से क्मा तात्ऩमव है? 

Q5.   Give a Scarcity definition of economics.                        (2) 

         अथवशातत्र की दरुवबता सॊफॊधी ऩरयबाषा दीश्जए। 
Q6.   Define Bop.                                                               (2) 

         बगुतान सॊतरुन को ऩरयबावषत कीश्जए। 
Q7.   What is meant by a homogeneous product?                              (2) 

          सभरूऩ उत्ऩाद का क्मा अथव है? 

Q8.   Define oligopoly.                                       (2) 

           अल्ऩागधकाय को ऩरयबावषत कीश्जए। 
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SECTION - c 

खांड - ग 

SHORT ANSWER TYPE QUESTIONS 

ऱघ ुउत्तरात्मक प्रश्न 

 

Q9.    Explain the concept of variable cost with the help of a table and diagram.      (4) 

           ऩरयवती रागत की अवधायणा को एक तालरका तथा येखागित्र की सहामता से सभझाइए 

Q10.  Explain the primary functions of the money.                                                (4) 

          भिुा के प्राथलभक कामों की व्माख्मा कीश्जए।  
Q11.  Explain any four functions of the Central bank.                                               (4) 

          केन्िीम फैंक के ककन्हीॊ िाय कामों की व्माख्मा कीश्जए। 
                                         

Q12.  Explain the concept of inflationary gap and suggest  monetary measures to  correct  it.                                         

             (4) 

भिुातपीनत अॊतयार की अवधायणा की व्माख्मा कयें औय इस ेठीक कयने के लरए भौद्रिक उऩामों का 
सझुाव दें।                                             

Q13.  What do you meant by Minimum support price?  What are its impact on the market?(4) 

          न्मनूतभ सभथवन भलू्म क्मा है?  फाजाय ऩय इसका क्मा असय होता है ?  

Q14.  Calculate National income from the following data:-                        

                         Items                                                       (rs. Crore)                  (4) 

            Compensation of employee                               20,000 

            Operating surplus                                             17,200 

            Mixed income                                                     2,800 

            Net factor income from abroad                               9000 

            Net indirect tax                                                       3,000 

            Contribution of the employer's to social security    3500 

         

           ननम्नलरखखत आॉकडों से याष्रीम आम की गणना कीश्जए:- 

                      भदें                                           ( रुऩमे कयोडों भें)  
           कभविारयमों का ऩारयिलभक                               20,000 

           ऩरयिारन अगधशषे                                          17,200 

           लभगित आम                                                     2,800  

           ववदेशों से प्राप्त शिु साधन आम                       9000 

           कुर अप्रत्मऺ कय                                              3,000  

           साभाश्जक सयुऺा भें ननमोक्ता का मोगदान       3500 

 

 

 

Q15.   Differentiate between Revenue receipts and capital receipts .    (4) 

          याजतव प्राश्प्तमों औय ऩूॊजी प्राश्प्तमों के फीि अॊतय फताइए।  
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Q16.   Explain the features of perfect competition.                 (4) 

          ऩणूव प्रनतमोगगता की ववशषेताओॊ की व्माख्मा कीश्जए । 
 

SECTION - D 

खांड - घ 

LONG ANSWER TYPE QUESTIONS 

दीघथ उत्तरात्मक प्रश्न 

 

Q17.  Explain Expenditure method of Elasticity of Demand.                         (6) 

         भाॊग की रोि की व्मम ववगध को सभझाइए।  
OR 

अर्वा 
          What is Price Elasticity of demand? Explain the factors affecting it.  

          भाॊग की कीभत रोि क्मा है?  इस ेप्रबाववत कयने वारे कायकों की व्माख्मा कीश्जए 

Q18   Differentiate between Monopoly and Monopolistic Competition market.     (6) 

          एकागधकाय औय एकागधकाय प्रनतमोगगता फाजाय भें अॊतय तऩष्ट कीश्जए। 
OR 

अर्वा 
         Define Collusive and Non Collusive Oligopoly and write its characteristics.  

         गठफॊधन औय गयै गठफॊधन अल्ऩागधकाय को ऩरयबावषत कीश्जए तथा इसकी ववशषेताएॊ लरखखए।  
Q19   Explain Income method to calculate National Income. Write any   

          two precautions of this  method.                                                                   (6) 

         याष्रीम आम की गणना के लरए आम ववगध की व्माख्मा कयें।  इस ववगध की कोई दो सावधाननमाॊ लरखखए।   
                                          


